
N = 1681
1681 circles in a circle

radius =   0.022821624182
ratio  =  43.818090773278

density  = 0.875509397441
contacts = 3445
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N = 1682
1682 circles in a circle

radius =   0.022818099460
ratio  =  43.824859373808

density  = 0.875759645088
contacts = 3963
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N = 1683
1683 circles in a circle

radius =   0.022804024884
ratio  =  43.851907945643

density  = 0.875199636176
contacts = 3098
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N = 1684
1684 circles in a circle

radius =   0.022802346403
ratio  =  43.855135885470

density  = 0.875590750477
contacts = 3403
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N = 1685
1685 circles in a circle

radius =   0.022786057702
ratio  =  43.886485898335

density  = 0.874859457104
contacts = 3228
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N = 1686
1686 circles in a circle

radius =   0.022781491291
ratio  =  43.895282676183

density  = 0.875027838409
contacts = 3213
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N = 1687
1687 circles in a circle

radius =   0.022778953716
ratio  =  43.900172610260

density  = 0.875351795528
contacts = 4247
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N = 1688
1688 circles in a circle

radius =   0.022778491606
ratio  =  43.901063216912

density  = 0.875835139611
contacts = 4250
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N = 1689
1689 circles in a circle

radius =   0.022778351714
ratio  =  43.901332834079

density  = 0.876343235182
contacts = 3576
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N = 1690
1690 circles in a circle

radius =   0.022767545332
ratio  =  43.922170151083

density  = 0.876030293561
contacts = 3290
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N = 1691
1691 circles in a circle

radius =   0.022762231243
ratio  =  43.932424257073

density  = 0.876139518422
contacts = 3695
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N = 1692
1692 circles in a circle

radius =   0.022753500126
ratio  =  43.949282283677

density  = 0.875985231465
contacts = 3642
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